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? The equal sides of an isosceles triangle are each
'3 cm longer than the third side. The third side

has a length of x cm. What is the perimeter of

the triangle?

A (Bx+6)cm B (3x-3) cm
C (3x+3)cm D 6xcm
247y “ Buy® 5
15 5a .
A _a; ‘ 64x
A 25a
3, .4 2
c XX p L.
a ax

% What is the gradient of the line 18x + 6y — 4 = 07

A3 Bl
. : 3
Cf3 D 18

5 The base length [ of 2 square pyramid of volume
¥ and perpendlcular height i is given by [ = } 3:’ .

Find ] correct to one decimal place if V=835 and

k=105,
A 56 , B 154
C 360.7 D 6502

P8 A number is decreased by 5 and then this amount is.

¥ doubled, The result is 62. Which of these equations
represents this information?

A5-2=62 . B 2x—5=62

C 2(5 —x) =62 D 20x—5) =62

— 9 whatishifas 62

Solve ~/9m =9.
_ B m=1
Am 3 .
C m=3 D m=9.
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¥ Which of the following is a linear equanon?
it by y=x+7 . B Y 5T
C y=3x—-2 , =x =5

= The praph 3x +y =9 cuts the y-axis at which poiat?
c (o 9 D 6.0

What is the grachent of the hne repxesented by the-

equation 3x — by = 57
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. : _ 1
Ifx2:4agﬁndxifa=E,
y=8and x> Q.

':.‘r;,-;-:b._:,f:l“hc formula, ¢ = e Wi 1s used to find

1+ mym,

the gnglc__: between two straight lines with
g’gggdi_s:qgs):_r:i and m,. Find the value of ¢ if

i

1

= —and m, = -2
)

w

8x%y? o 15527
43 y4

Sxyz

2 1If T° = 1.85 x 10° find T, giving your

* answer correct to two decimal places,

1 mark’

B lan produces novelty badees. Use the -
@ P ty badg ;

5

graph of his costs and income to answer
the following questions:

‘Badge Production !
Income
{ i3

T

Cost

L . B =

]

Amount in $(’000s)

—_

1 mark - o {
) 0 1 2 3 4 5 5
Units ('000s)

L
y

a What does the y-intercept for the
Cost graph represent?

1 mark

b What is the gradient of the

Income graph?

1 mark - .

1

¢ What does the gradient represent?

1 mark d How many badges does Ian need

to sell to break even?

1 mark,

1 mark

a0
1 mark'

1 mark



e What is the variable cost of

producing each badge? 1 mark |
i b For the equation 3x — y+4=0 ‘
i Mzake y the subject. ' 1 mark .
@ a Complete the table of values for
=y =32 ii Draw a sketch graph of the line
x|-=3|l=2[-1lol1]2]3 _ using only the y-intercept and o
v _ 1 mark the gradient. 2 marks
b Draw the graph of y = 3w + 2 for Value_;
~ of x between —3 and 3. 2 marks
;2‘({2 The step gr'ap.h ‘t_v:él_c_;sz‘ho_\i?-s_:;_the' .;;;d_s;.'t of
o posting lettérs of various {veig}‘i;ts_:_
Postage Cost fof'a Letttla‘:r-‘-.
A - 5
: o a 3.60 +
¢ Where does the line y = 3% + 2 cut . - a ; oo b
the x-axis? A 1 mark g $2.40 -
iy
S 5180 | —
8 $1.20 b o—e
3,3_,0.60 b'

Ly
—_—

160 200 300 400 500 -
Weight in grams-

a What is the cost of seﬁding three
a Find the equation of 2 line that has 2 letters of weights 125 ¢,215 ¢ 7
gradient of 2 and y-intercept of -3, 1 mark and 370 g? 1 mark

SAbES




b What is the cost of sending a letter
that weighs 400 g?

1 mark _

et



=5
4
x—4=20
x=24 v
x5 z_xtz
%3 ”rs
= 278
=45 v
' -6
Whena:6,h=8“hls
=8+6

=14

g:g P=x+(x+3)+(x+3)
P=3x+4+6 v

24x%y o Bxy®  24x’y < Sa
15 5a 15 8xp®
% 120ax?y
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=y
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fel]

into gradient—intercept form will reveal the value of

the gradient.

18x+6y—4=0
by=4—18x
418
=T s
2
=——3x
73

~ The gradient is —-3. ¥

Kid

1= 2=

h

. Jm

{ 105
1=15.445757... [Cal]
=154 v

2(5:—5)=62 v

PF 3(2x— 1)~ 2(c~2) = 6x~3—2x+4
' C=dx+1 ¥

] Vom =9
Square both sides
(+om)? = (9

9m=81
m=81+9
m=9 ¥

[fey The gradient is m in y = mx + b, su arranging this equation

so the equation of the line is: Buro = 2 AL,

Likewise, the gradient of the USD linc is &2 or £; 5o the

equation of the line is: USD = £ AUD.

I£ 300 Euro = 400 AUD, substituting this into the USD

equation gives: USD = £ x 400

USD =480 ¥
Gradient = non

X X

4 -0
=

0—(2)
m=tog v

2

FE] 7 = 3% — 2 is a linear equation, v

4 When the line 3x 4+ y=9

cuts the x-axis y =0
3x+0=9
Ix=9
x=9+3
x=3
. The point is (3,0). ¥

16 x2:4ay\Vh€na=ly=Sandx?O

1 '2’
¥=4xZx8§
2
x?=16. |
x =416
x=%4 butx>0
,.',x=4 w/

oMy — My .
f—-—u—.—.

I o TS

t=1 (fom calculator) v

c

Ba?y? « 15xz"  120x%p%2*
Sxyz 48y 240xy°z
e
2y?

R3] Using the graph, the gradient of the Euro line is 323, or 2,




3% x _50x) +7()
35
15x + 7x
T
_2x
35

T°=1.85x 10°

T T=0.85 x 109
T=17.923975... [Cal]
T=192pdp) v

a The y-intercept for the Cost graph represents the fixed
costs of production, v

b The gradient of the Income graph
_ Rise 1000 _
" Run 1000
< Each badge is sold for $1.00. v <
d The breakeven point is where the two graphs intersect,
which is at 3000 units, v
e The gradient of the ‘Cost graph represents the variable
_cost of producmg each badge.

CGradient = —"= —" =§0.50
. Run 3000
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v

. 2
¢ The line cuts the x-axis at y = 0; that is, x = —'5 v

a y=2x-3 Y
b 1 dx-y+4=0
y=3x+4 ¥
ii
x—y+4=0
7
6
5
4
.1_
oL %
N s

a- Costis $1.20 + $1.80 + $2.40=$5.40 v

b Closed circle indicates that the cost of sending 2 400 g
letter stll falls in the 300400 g price range, which
costs $2.40. v




